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QUESTION 1

You are asked to configure an IPsec VPN between two SRX Series devices that allows for processing of 

CoS on the intermediate routers. 

What will satisfy this requirement? 

A. route-based VPN 

B. OpenVPN 

C. remote access VPN 

D. policy-based VPN 

Correct Answer: A 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/secuirty-cos-basedipsec-vpns.html 

 

QUESTION 2

You have downloaded and initiated the installation of the application package for the JATP Appliance on an SRX1500.
You must confirm that the installation of the application package has completed successfully. 

In this scenario, which command would you use to accomplish this task? 

A. show services application-identification version 

B. show services application-identification application detail 

C. show services application-identification application version 

D. show services application-identification status 

Correct Answer: D 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-applicationidentification-
predefined-signatures.html 

 

QUESTION 3

Click the Exhibit button. 
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Which statement is correct regarding the information show in the exhibit? 

A. The tunnel binding was discovered automatically 

B. The output is for an ADVPN 

C. The tunnel gateway address was automatically discovered 

D. The tunnel is not encrypting the traffic 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/command-summary/ show-security-
ipsec-next-hop-tunnels.html 

 

QUESTION 4

Click the Exhibit button. 
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Your company has purchased a competitor and now must connect the new network to the existing one. The
competitor\\'s gateway device is receiving its ISP address using DHCP. Communication between the two sites must be
secured; however, obtaining a static public IP address for the new site gateway is not an option at this time. The
company has several requirements for this solution: 

A site-to-site IPsec VPN must be used to secure traffic between the two sites; The IKE identity on the new site gateway
device must use the hostname option; and Internet traffic from each site should exit through 

its local Internet connection. 

The configuration shown in the exhibit has been applied to the new site\\'s SRX, but the secure tunnel is not 

working. 

In this scenario, what configuration change is needed for the tunnel to come up? 
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A. Remove the quotes around the hostname 

B. Bind interface st0 to the gateway 

C. Change the IKE policy mode to aggressive 

D. Apply a static address to ge-0/0/2 

Correct Answer: C 

 

QUESTION 5

You are asked to configure a new SRX Series CPE device at a remote office. The device must participate in forwarding
MPLS and IPsec traffic. 

Which two statements are true regarding this implementation? (Choose two.) 

A. Host inbound traffic must not be processed by the flow module 

B. Host inbound traffic must be processed by the flow module 

C. The SRX Series device can process both MPLS and IPsec with default traffic handling 

D. A firewall filter must be configured to enable packet mode forwarding 

Correct Answer: AD 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-packet-basedforwarding.html 
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